32. 2*#836

(A) YBEJIY

(B) ABEJIN

(C) NBEJIA

(D) XBEJIX

(E) None of these

33. 8732@9

(A) TGIAFJ

(B) YGIAFY

(C) JGIAFT

(D) XGIAFX

(E) None of these

34. 7#$%35

(A) GERMIU

(B) UERMIG

(C) GERMIG

(D) XERMIX

(E) None of these

35. 931%©d

(A) TIQMHL

(B) LIQMHT

(C) LIQMHL

(D) TIQMHT

(E) None of these

36. 46*389

(A) PNBIJT
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(B) XNBIJX

(C) TNBIJP

(D) PNBIJP

(E) None of these

Directions—(Q. 37–43) In the following questions, the symbols @, ©, %, $ and d are used with the following meanings illustrated.

‘P % Q’ means ‘P is greater than Q’.

‘P d Q’ means ‘P is neither greater than nor smaller than Q’.

‘P @ Q’ means ‘P is smaller than Q’.

‘P © Q’ means ‘P is either smaller than or equal to Q’.

‘P $ Q’ means ‘P is either greater than or equal to Q’.

In each of the following questions assuming the given statements to be true, find outwhich of the two conclusions I and II given below them is/are definitely true. Give answers :

(A) If only conclusion I is true.

(B) If only conclusion II is true.

(C) If either conclusion I or conclusion II is true.

(D) If neither conclusion I nor conclusion II is true.

(E) If both conclusions I and II are true.

37. Statements : M @ J, J © R, R d K

Conclusions : I. K d J

II. K % J

38. Statements : N $ T, T d H, N @ W

Conclusions : I. W % T

II. H © N

39. Statements : F @ R, R © V, V $ T

Conclusions : I. V % F

II. F @ T

40. Statements : W © D, D $ B, B @ H

Conclusions : I. H % D

II. W @ B

41. Statements : F d T, T $ M, M © R

Conclusions : I. R $ F

II. M © F

42. Statements : H $ N, N % R, R @ J

Conclusions : I. R @ H

II. J % H
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43. Statements : V % B, B $ D, D © E

Conclusions : I. E d B

II. D @ V

Directions—(Q. 44–49) Study the following information and answer the questions givenbelow—

M, N, P, R, T, W, F and H are sitting around a circle facing at the centre. P is third to theleft of M and second to the right of T. N is second to the right of P. R is second to the right of W who is second to the right of M. F is not an immediate neighbour of P.

44. Who is to the immediate right of P ?

(A) H

(B) F

(C) R

(D) Data inadequate

(E) None of these

45. Who is to the immediate right of H ?

(A) R

(B) F

(C) M

(D) Data inadequate

(E) None of these

46. Who is to the immediate left of R?

(A) P

(B) H

(C) W

(D) T

(E) Data inadequate

47. Who is third to the right of H ?

(A) T

(B) W

(C) R

(D) F

(E) Data inadequate

48. Who is second to the right of F ?

(A) M

(B) R

(C) T

(D) Data inadequate

(E) None of these

49. In which of the following is the first person sitting in between the second and the
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third person ?

(A) NHM

(B) PHN

(C) TRP

(D) TWF

(E) None of these

Directions—(Q. 50–55) In each of the following questions, two rows of numbers aregiven. The resultant number in each row is to be worked out separately based on thefollowing rules and the questions below the rows of numbers are to be answered. The operations of numbers progress from the left to the right.

Rules :

(i) If an odd number is followed by another composite odd number, they are to be added.

(ii) If an even number is followed by an odd number they are to be added.

(iii) If an even number is followed by a number which is the perfect square, the even number is to be subtracted from the perfect square.

(iv) If an odd number is followed by a prime odd number, the first number is to be divided by the second number.

(v) If an odd number is followed by an even number the second one is to be subtractedfrom the first number.

If ‘p’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 58

(B) 76

(C) 27

(D) 82

(E) None of these

51. 12 64 17

20 m 16

If ‘m’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 69

(B) 85

(C) 101

(D) 121

(E) None of these

52. 85 17 35

16 19 r

If ‘r’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 175

(B) – 5

(C) 75

(D) 210

(E) None of these

53. 24 15 3

d 6 15

If ‘d’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 37

(B) 8

(C) 22

(D) 29

(E) None of these

54. 28 49 15

h 3 12

If ‘h’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 13

(B) 15

(C) 19

(D) 27

(E) None of these

55. 36 15 3

12 3 n

If ‘n’ is the resultant of the first row, what will be the resultant of the second row ?

(A) 15 / 17

(B) 32

(C) 12 / 17

(D) 36

(E) None of these

Directions—(Q. 56–60) Below in each question are given two statements I and II. Thesestatements may be either independent causes or may be effects of independent causes or acommon cause. One of these statements may be the effect of the other statement. Readboth the statements and decide which of the following answer choice correctly depicts therelationship between these two statements. Mark answers :

(A) If statement I is the cause and statement II is its effect.

(B) If statement II is the cause and statement I is effect.

(C) If both the statements I and II are independent causes.

(D) If both the statements I and II are effects of independent causes.

(E) If both the statements I and II are effects of some common cause.

56. I. This year, the cut off percentage for admission to junior colleges have increased over the last year.

II. This year performance of students in Xth final exam was considerably higher than theprevious year.

57. I. The conditions of most of the national highways are very bad.

II. Govt. has now sanctioned a huge amount of money to maintain the national highways.

58. I. Many students of the local school have failed in English Language paper in the annual examination.

II. Many students of the local school have failed in Mathematics paper in the annual examination.

59. I. Rain and thunder showers bashed the city during the past three days.

II. Many people stayed indoor during the past three days.

60. I. There has been a considerable increase in the sale of fat free food articles.

II. Now people have become more conscious about their health condition and food habits.

Directions—(Q. 61-75) In each of the questions given below which one of the fiveanswer figures on the right should come after the problem figures on the left, if thesequence were continued ?

Answers with Hints

1. (D)

2. (E) All the rest are prime numbers.

3. (B) B I T E

4. (A) 5. (D) 6. (C) 7. (B) 8. (B)

9. (E) All the rest are pure metals.

10. (B) 98 987 9876 98765 987654 98765 4

11. (D) 963, 8 4 2, 697, 319, 254

12. (B) 13. (A) 14. (D) 15. (C)

16. (A) 17. (B) 18. (D) 19. (E)

20. (E) 21. (C) 22. (A)

23. (A) 20th from the left end is T and 12th to the left of T is %.

24. (C) H 2 © and K 7 $

25. (A)

26. (B) M F 4

27. (D) After dropping all the numbers.

B # A R E % M F J U @ H © T I * W P # K $ Y

11th from the right end is H.

28. (D) # A, E % and U @

29. (E) 30. (B) 31. (A) 32. (D) 33. (C) 34. (E)

35. (D) 36. (A) 37. (C) 38. (E) 39. (A)

40. (D) 41. (B)

42. (A) 43. (B) 44. (A) 45. (E) 46. (D) 47. (D) 48. (C)

49. (A) 50. (A) 51. (E) 52. (B) 53. (C) 54. (D) 55. (A)

56. (D) 57. (A) 58. (E) 59. (A) 60. (B)

Directions (questions 1 to 5): Read the following information and answer the questions given below.

(i) A, B, C, D, E, F and G are seven members standing in a row (not necessarily in the same order) facing north.

(ii) C and B have as many members between them as G and C have between them.

(iii) D, who is 3rd from the extreme left, is 3rd to the left of E.

(iv) A and D are neighbors and F and C are neighbors.

1. Which of the following statements may be false?

(a) A is the 3rd to the left of F

(b) D is 3rd to the left of E

(c) F is 3rd the right of A

(d) B is 3rd to the left of C

(e) None of these

Ans (d) 

2. Which of the following statements is true?

(a) C and E are neighbors

(b) E is to the immediate left of F

(c) C is to the immediate left of D

(d) A is to the immediate left of D

(e) None of these

Ans (d)

3.  Who is at the extreme right?

(a) Data inadequate

(b) G

(c) B

(d) E

(e) None of these

Ans (a)

4. Which of the following given two pairs of neighbors?

(a) A, C and D, C

(b) A, B and E, G

(c) D, C and E, F

(d) C, F and C, E

(e) None of these

Ans (c)

5.  What is the position of F?

(a) Immediate to the right of E.

(b) Third to the left of G

(c) Immediate to the left of C

(d) 5th to the right of B

(e) None of these

Ans (e)

6. Four of the following five groups of letters are alike in some way while one is different. Find out which one is different.

(a) ISLOJ

(b) LUOQM

(c) AKDGB

(d) FPILG

(e) NXQTO

Ans (b) 

7. In the sequence given below the sum of the two digits which immediately precede the digit ’4′ exceeds the sum of the two digits which immediately follow the digit 4 and sum of the two digits which immediately follow the digit 6 exceeds the sum of the two digits which immediately precede the digit 6. How many such 4′s and 6′s together are there?

5 4 4 6 2 6 3 5 6 4 2 8 4 3 7 6 6 4 8 3

(a) 4

(b) 6

(c) 3

(d) 5

(e) None of these

Ans (a)

8. Below are given six three-digit numbers. The digits comprise of numeric and letters. The letter indicates its serial order in the English alphabet. What will be the middle digit of the 4th number when the numbers are arranged in the descending order after interchanging numeric in each number without altering the place of letter in the number?

19F, 2H9, 98B, D76, 7A6, 61E

(a) 8

(b) 9

(c) 6

(d) 7

(e) None of these

Ans (e)

Directions (Q.9 & 10): In a code language any letter which is immediately after or before a vowel in the English alphabet is substituted by that vowel and any vowel i.e. A, E, I, O and U is substituted by the letter immediately following that vowel in the English alphabet.

9. How can the word FEVERISH be written in that code language?

(a) EDVDRJSI

(b) EFUFRHSI

(c) EFUFRJSI

(d) EDUFRJSI

(e) None of these

Ans (c)

10. How can the word CONFEDERATION be written in that code language?

(a) CPOGFEDRBUTPO

(b) CPOEFEFRBUJPO

(c) CNOEFEFRBUHNO

(d) CONFFDERATION

(e) None of these

Ans (b)

11. If each of the vowels i.e. A, E, I, O, & U along with the 3rd letter to its right in the alphabet are taken out and arranged one after the other in the same order followed by the remaining letters of the alphabet, which of the following will be 5th to the left of the 19th letter from the left in the new arrangement? A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

(a) G

(b) H

(c) J

(d) W

(e) none of these

Ans (a)

12. How many pairs of letters are there in the word SPONTANEOUS which have number of letters between them in the word one less than the number of letters between them in English alphabet?

(a) five

(b) one

(c) four

(d) Two

(e) Three

Ans (a)

13. Four of the following five have similar relationship and hence form a group. Which one does not belong to the group?

(a) BROTHER : DORVEHT

(b) ENGLISH : GGNNSIJ

(c) ANOTHER : CONVEHT

(d) BETWEEN : DTEZEEP

(e) HUSBAND : JSUDNAF

Ans (d)

14.  Which pair of the letters in the word BEAUTIFUL has the same relationship between its letters with respect to their position in the English alphabet as the pair EA in that word has between its letters?

(a) IB

(b) LF

(c) IE

(d) FL

(e) TL

Ans (c)

15.  Which of the following relates to FLOWER in the same way as RTERBN relates to SECTOR?

(a) RWLGPF

(b) EOFKUQ

(c) EOFMXS

(d) RWLEPD

(e) RWLEND

Ans (e) 

16.  If arranged properly which one of the following is not a river in India.

(a) ANUMAY

(b) IHSOK

(c) TABROC

(d) ADAMRAN

(e)None of these

Ans (c) It is CORBAT. It is a National Park

17.  If the following words are arranged in a natural sequence, which word would be the first.

(a) Night

(b) Negative

(c) Neighbour

(d) Near

(e) None of these

Ans (d) 

18. In an office having 55 employees men out number the women by 15. How many women are working in that office.

(a) 30

(b) 20

(c) 40

(d) 50

(e) None of these

Ans (b)

19. Reaching a place of appointment on Friday I found that I was two days earlier than the scheduled day. If I had reached on the following Wednesday how many days late would I have been.

(a) one day

(b) two days

(c) three days

(d) four days

(e) None of these

Ans (c)

20. Reena traveled from point A to a distance of 10 feet east at point B. She then turned right and walked 3 feet. Again she turned right and walked 14 feet. How far is she from the starting point.

(a) 4 feet

(b) 5 feet

(c) 24 feet

(d) 25 feet

(e) None of these

Ans (a)

Directions (Questions 21 to 25):- One of the words given in the alternatives cannot be formed by using the letters given in the question. Find out that word.

21. ENCOURAGE

(a) ANGER

(b) GREEN

(c) USAGE

(d) COURAGE

(d) None of these

Ans (c) There is no alphabet ‘S’ in the question

22. CONCENTRATE

(a) CENTRE

(b) CONCERN

(c) TREAT

(d) REASON

(e) None of these 

Ans (d)

23. INTRANSIGENT

(a) STAIN

(b) TRAIN

(c) RESIGN

(d) TRACE

(e) None of these

Ans (d) 

24. MAGNETIC

(a) MENACE

(b) GAIN

(c) NAME

(d) GAME

(e) None of these

Ans (a)

25.  ENTHUSIASM

(a) MITE

(b) ASSIST

(c) ATHENS

(d) SENT

(e) None of these

Ans (b)

Directions (questions 1 to 5):Read the following information and answer the questions given below.

(i) A, B, C, D, E, F and G are seven members standing in a row (not necessarily in the same order) facing north.

(ii) C and B have as many members between them as G and C have between them.

(iii) D, who is 3rd from the extreme left, is 3rd to the left of E.

(iv) A and D are neighbors and F and C are neighbors.

1. Which of the following statements may be false?

(a) A is the 3rd to the left of F

(b) D is 3rd to the left of E

(c) F is 3rd the right of A

(d) B is 3rd to the left of C

(e) None of these

Ans (d) 

2. Which of the following statements is true?

(a) C and E are neighbors

(b) E is to the immediate left of F

(c) C is to the immediate left of D

(d) A is to the immediate left of D

(e) None of these

Ans (d)

3.  Who is at the extreme right?

(a) Data inadequate

(b) G

(c) B

(d) E

(e) None of these

Ans (a)

4. Which of the following given two pairs of neighbors?

(a) A, C and D, C

(b) A, B and E, G

(c) D, C and E, F

(d) C, F and C, E

(e) None of these

Ans (c)

5.  What is the position of F?

(a) Immediate to the right of E.

(b) Third to the left of G

(c) Immediate to the left of C

(d) 5th to the right of B

(e) None of these

Ans (e)

6. Four of the following five groups of letters are alike in some way while one is different. Find out which one is different.

(a) ISLOJ

(b) LUOQM

(c) AKDGB

(d) FPILG

(e) NXQTO

Ans (b)

7. In the sequence given below the sum of the two digits which immediately precede the digit â€˜4′ exceeds the sum of the two digits which immediately follow the digit 4 and sum of the two digits which immediately follow the digit 6 exceeds the sum of the two digits which immediately precede the digit 6. How many such 4â€™s and 6â€™s together are there?

5 4 4 6 2 6 3 5 6 4 2 8 4 3 7 6 6 4 8 3

(a) 4

(b) 6

(c) 3

(d) 5

(e) None of these

Ans (a)

8. Below are given six three-digit numbers. The digits comprise of numeric and letters. The letter indicates its serial order in the English alphabet. What will be the middle digit of the 4th number when the numbers are arranged in the descending order after interchanging numeric in each number without altering the place of letter in the number?

19F, 2H9, 98B, D76, 7A6, 61E

(a) 8

(b) 9

(c) 6

(d) 7

(e) None of these

Ans (e)

Directions (Q.9 & 10): In a code language any letter which is immediately after or before a vowel in the English alphabet is substituted by that vowel and any vowel i.e. A, E, I, O and U is substituted by the letter immediately following that vowel in the English alphabet.

9. How can the word FEVERISH be written in that code language?

(a) EDVDRJSI

(b) EFUFRHSI

(c) EFUFRJSI

(d) EDUFRJSI

(e) None of these

Ans (c)

10. How can the word CONFEDERATION be written in that code language?

(a) CPOGFEDRBUTPO

(b) CPOEFEFRBUJPO

(c) CNOEFEFRBUHNO

(d) CONFFDERATION

(e) None of these

Ans (b)

11. If each of the vowels i.e. A, E, I, O, & U along with the 3rd letter to its right in the alphabet are taken out and arranged one after the other in the same order followed by the remaining letters of the alphabet, which of the following will be 5th to the left of the 19th letter from the left in the new arrangement? A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

(a) G

(b) H

(c) J

(d) W

(e) none of these

Ans (a)

12. How many pairs of letters are there in the word SPONTANEOUS which have number of letters between them in the word one less than the number of letters between them in English alphabet?

(a) five

(b) one

(c) four

(d) Two

(e) Three

Ans (a)

13. Four of the following five have similar relationship and hence form a group. Which one does not belong to the group?

(a) BROTHER : DORVEHT

(b) ENGLISH : GGNNSIJ

(c) ANOTHER : CONVEHT

(d) BETWEEN : DTEZEEP

(e) HUSBAND : JSUDNAF

Ans (d)

14.  Which pair of the letters in the word BEAUTIFUL has the same relationship between its letters with respect to their position in the English alphabet as the pair EA in that word has between its letters?

(a) IB

(b) LF

(c) IE

(d) FL

(e) TL

Ans (c)

15.  Which of the following relates to FLOWER in the same way as RTERBN relates to SECTOR?

(a) RWLGPF

(b) EOFKUQ

(c) EOFMXS

(d) RWLEPD

(e) RWLEND

Ans (e) 

16.  If arranged properly which one of the following is not a river in India.

(a) ANUMAY

(b) IHSOK

(c) TABROC

(d) ADAMRAN

(e)None of these

Ans (c) It is CORBAT. It is a National Park

17.  If the following words are arranged in a natural sequence, which word would be the first.

(a) Night

(b) Negative

(c) Neighbour

(d) Near

(e) None of these

Ans (d) 

18. In an office having 55 employees men out number the women by 15. How many women are working in that office.

(a) 30

(b) 20

(c) 40

(d) 50

(e) None of these

Ans (b) 

19. Reaching a place of appointment on Friday I found that I was two days earlier than the scheduled day. If I had reached on the following Wednesday how many days late would I have been.

(a) one day

(b) two days

(c) three days

(d) four days

(e) None of these

Ans (c)

20. Reena traveled from point A to a distance of 10 feet east at point B. She then turned right and walked 3 feet. Again she turned right and walked 14 feet. How far is she from the starting point.

(a) 4 feet

(b) 5 feet

(c) 24 feet

(d) 25 feet

(e) None of these

Ans (a)

Directions (Questions 21 to 25):- One of the words given in the alternatives cannot be formed by using the letters given in the question. Find out that word.

21. ENCOURAGE

(a) ANGER

(b) GREEN

(c) USAGE

(d) COURAGE

(d) None of these

Ans (c) There is no alphabet â€˜Sâ€™ in the question

22. CONCENTRATE

(a) CENTRE

(b) CONCERN

(c) TREAT

(d) REASON

(e) None of these 

Ans (d)

23. INTRANSIGENT

(a) STAIN

(b) TRAIN

(c) RESIGN

(d) TRACE

(e) None of these

Ans (d) 

24. MAGNETIC

(a) MENACE

(b) GAIN

(c) NAME

(d) GAME

(e) None of these

Ans (a)

25.  ENTHUSIASM

(a) MITE

(b) ASSIST

(c) ATHENS

(d) SENT

(e) None of these

Ans (b)

At the start of game, A and B between them had four times as much money as C while B & C together had three times as much as A. At the end, A & B between them had three times as much as C, while B & C together had twice as much as A. B finished Rs. 200 poorer at the end. A, B, C are the only players.

1. What fraction of the total money did C have at the beginning of the game ?

(a) 1/3

(b) 1/8

(c) 2/9

(d) 1/5

2. What fraction of the total money did A win (or lose)?

(a) won 1/12

(b) lost 1/6

(c) lost 1/3

(d) won 1/5

3. What amount did B start with ?

(a) Rs. 575

(b) Rs. 375

(c) Rs. 825

(d) Rs. 275

4. What amount did C win (lose)?

(a) lost Rs. 50

(b) won Rs. 75

(c) lost Rs. 125

(d) won Rs. 175

5. How much money did A have at the end of the game?

(a) Rs. 375

(b) Rs. 500

(c) Rs. 325

(d) Rs. 1100

Quantitative Aptitude Model Paper Questions Test – 1

1. By what number less than 1000 must 43259 be multiplied So that the last three figures to the right of the product may be 437?

(a) 743 (b) 658 (c) 701 (d) None of these

2. By what least number must 217800 be multiplied in order to make it a perfect square?

(a) 2 (b) 3 (c) 4 (d) None of these

3. Find the least number by which 19404 must be multiplied or divided so as to make it a perfect square.

(a) 9 (b) 10 (c) 11 (d) None of these

4. Find the smallest number which is a perfect square and contains 1400 as a factor.

(a) 8670 (b) 9600 (c) 9000 (d) None of these

5. Find in the blank indicated by a star in the number 456 so as to make it divisible by 33

(a) 3 (b) 4 (c) 5 (d) None of these

6. By what least number must 6796 by multiplied or divided in order that the resulting number may be a perfect square?

(a) 17 (b) 39 (c) 43 (d) None of these

7. Find the greatest number that will divide 964, 1238 and 1400 leaving remainders 41,31 and 51 respectively.

(a) 71 (b) 64 (c) 67 (d) None of these

8. Find the greatest number that will divide 19409 and 43037 leaving remainders 17 and 29 respectively.

(a) 178 (b) 192 (c) 194 (d) None of these

9. Find the greatest number that will divide 964, 1238, 1400 leaving remainders 41, 31 and 51 respectively.

(a) 64 (b) 71 (c) 69 (d) None of these

10. Find the greatest number which will divide 12288, 28200, and 44333 so as to leave the same remainder in each case.

(a) 221 (b) 120 (c) 272 (d) None of these

ANSWERS:

01.(a)  06.(b)

02.(a)    07.(a)

03.(c)    08.(b)

04.(b)     09.(b)

05.(a)     10.(a)
